OVNATEE FR
Ruby APFH

EHE

| Ruby7 0% 5 LDEAT
|

» ruby &l& Ruby 7RSS LEETTHIAIUR
. %ﬁjﬁ_gnrﬂﬂ)mm%éﬁr, ZHITHE-T-BE

G:¥Ruby>ruby Dendail.rb
ZAITBIE

G:¥Ruby>ruby Dendai2. rb

Dendai2. rb:1: Invalid char "¥201" in expression

Dendai2. rb:1: syntax error, unexpected $undefined, expecting $end
puts “ZAlZBIE”

G:¥Ruby>
_ . BARELAXT
# coding: Windows-31J¢ ERST-HDEE
# Dendail.rb B’i‘%‘i%%¢
puts “CAITHE" i

# coding: Windows-31J"
# Dendai2.rb
puts "ZAIZHE"

G:¥Ruby>ruby Dendai4. rb
Dendai4. rb:2: unterminated string meets end of file

G:¥Ruby>

# coding: Windows-31J
# Dendai4.rb
puts “ZAIZHIE”

ECTHRERLD ?

G:¥Ruby>ruby Dendai5. rb

Dendai5. rb:2: Invalid char "¥201' in expression
Dendai5. rb:2: Invalid char "¥202" in expression
Dendaib. rb:2: Invalid char “¥261° in expression
Dendaib. rb:2: Invalid char "¥202' in expression
Dendai5. rb:2: Invalid char "¥361" in expression

Dendai5. rb:2: Invalid char “¥202° in expression

Dendaib. rb:2: Invalid char "¥311° in expression

Dendai5. rb:2: Invalid char "¥202" in expression

Dendaib.rb:2: Invalid char "¥277" in expression

Dendaib. rb:2: Invalid char "¥202' in expression

Dendai5. rb:2: Invalid char "¥315" in expression

Dendaib. rb:2: unterminated string meets end of file

Dendaib. rb:2: warning: parenthesize argument(s) for future version
G:¥Ruby>

# coding: Windows-31J
# Dendai5.rb
puts 7 ZAITBIE"

ETHER>TVDDIE?

| thayipiIzE

|
# coding: Windows-31J

# samplel2. rb G:¥Ruby>ruby samplel2.rb

print “ED” E0S 5 o0BAE

print "5 550" .

puts “EEEI" G:¥Ruby>

# coding: Windows-31J G:¥Ruby>ruby samplel3. rb
# samplel3. rb ERPEEEOL:

print “E®D" + 55507

puts “FEEJI" G:¥Ruby>

# coding: Windows-31J G:¥Ruby>ruby samplel4. rb
# sampleld. rb =10}

puts “HED” I56M0

puts "5 550" FRE I

puts “FRE)I"
G:¥Ruby>




irb

» TOTSLIE, ZHOTTERIN TS,

s LA, BICIE, ETLEEWIEN, —1TTET
TLESZELHD

s Ruby [ZIE. SOT— 77055 LIDERITNTE
5Y—ILHRE SN TIVS,
» Rl ERTICES>TELERITTES. ENED

= FHAY, irb (interactive Ruby)

G:¥Ruby>irb

irb(main):001:0> print( 2+3+4+5+6+7+8+9 )
44=> nil

irb(main):002:0>

irb DEFTHI

» BEEADYIZHEZS

irb(main):001:0> 1+2+3+4

=> 10

irb(main):=002:0> 2*3*4*5*6*7*8*9*10
=> 3628800

irb(main):003:0> x=2.0

=> 2.0

irb(main):=004:0> Math.sqre(x)

=> 1.4142135623731

irb(main):005:0> Math::Pl

=> 3.14159265358979
irb(main):006:0> Math.sin(Math::P1/4)
=> 0.707106781186547
irb(main):007:0> Math.sqrt(2)/2

=> 0.707106781186548
irb(main):008:0>

http://www.ruby-lang.org/ja/man/?cmd=view;name=Math
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HEIZIFE A H S

» ST ROESZBDEHEZATHELD

irb(main):005:0> 3
=3

irb(main):006:0> 3.0

=> 3.0

irb(main):007:0> 3/2

=1

irb(main):008:0> 3.0/2

=> 1.5

irb(main):009:0> 3.0/2.0 ek

= 1.5 K o w 5 Spur <ok
irb(main):010:0> 2/3 INBE A BHDEE N AT
=0 ZEWLA

irb(main):011:0> 2.0/3 = h &‘6

=> 0.666666666666667

irb(main):012:0> 2/3.0

=> 0.666666666666667

irb(main):013:0>

| F—4IzIEE A BB 5

irb(main):001:0> 2+3
=5

irb(main):002:0> 2+3.0
= 5.0
irb(main):003:0> 2.0+3
=> 5.0
irb(main):004:0>

XF5|HEE

irb(main):017:0> "abcd"*2

=> "abcdabcd™

irb(main):018:0> "abcd"+"efgh"
=> “abcdefgh"

irb(main):019:0> "Abc"*3

=> "AbcAbcAbc"

irb(main):020:0> "abcd"-""ab"
NoMethodError: undefined method ~-* for "abcd":String
from (irb):20
from :0
irb(main):021:0> 2*"abcd"
TypeError: String can"t be coerced into Fixnum
from (irb):21:in ~*"
from (irb):21
from :0
irb(main):022:0>




\ Eh-ot-i&E

|
] ti:gzz:tJjgigéio

irb(main):029:0> 2 == 2 irb(main):036:0> 2.1 < 2.2
=> true => true
irb(main):030:0> 2 < 3 irb(main):037:0> 2.1 > 2.2

=> true => false

irb(main):031:0> 2 >= 3 irb(main):038:0> 2.0 == 2
=> false => true

irb(main):032:0> 2 1= 3 irb(main):039:0> 2 < "2"

=> true ArgumentError: comparison of Fixnum
irb(main):033:0> "ab™ == "ab" with String failed

=> true from (irb):39:in "<~
irb(main):034:0> "ab"™ == "abc" from (irb):39

=> false from :0
irb(main):035:0> "ab™ < "abc™ irb(main):040:0>

=> true

irb(main):036:0>

T—3%
" COESIT HELSHEE BT, HEA
EALGIZDIMNRELLIGIHEEIZ. Th
BE-BEOEAR. TR ZOMR)E
» RUbYIZHDT—H2E D55, BEH(E:
» DR OGO B BN A
» integer or fixed-point number
A DHLE FEINERAK
» floating-point number

« XF5

| ZHOR
|

» Ruby [FEIIEATITDEETHY . BHRITFHH
BRIZRE0 T, RDELSICLTHAD
FIRESAL

irb(main):045:0> x=1.0; print x.to_s, " "; x=1; print x.to_s
1.0 1=> nil

& E 2

irb(main):001:0> 0.9 irb(main):010:0> 0.9999999999

=> 0.9 => 0.9999999999

irb(main):002:0> 0.99 irb(main):011:0> 0.99999999999

=> 0.99 => 0.99999999999

irb(main):003:0> 0.999 irb(main):012:0> 0.999999999999

=> 0.999 => 0.999999999999

irb(main):004:0> 0.9999 irb(main):013:0> 0.9999999999999

=> 0.9999 => 0.9999999999999

irb(main):005:0> 0.99999 irb(main):014:0> 0.99999999999999
=> 0.99999 => 0.99999999999999
irb(main):006:0> 0.999999 irb(main):015:0> 0.999999999999999
=> 0.999999 => 0.999999999999999
irb(main):007:0> 0.9999999 irb(main):016:0> 0.9999999999999999
=> 0.9999999 = 1.0

irb(main):008:0> 0.99999999 irb(main):017:0> 0.99999999999999999
=> 0.99999999 = 1.0

irb(main):009:0> 0.999999999
=> 0.999999999

D RABEGLLERIER

| uby 1.9 Tl 6 A%<
irb(main):040:0> 2.0/3

=> 0.666666666666667

irb(main):041:0> 2.0/3 == 0.66666666666666

= false

irb(main):042:0> 2.0/3 == 0.666666666666666666666
=> true

irb(main):043:0>

ARHTEADEIEREALZLS

| BISE(KER: irbTOiRE

n itb TAALEXFEBETSHE
= backspace: A—VILEED—XFHE
n —— B—=YILDFEE
» Ctrl+b, Ctrl+f &EEILC
o [N BEAALEITADOUE
» Ctrl+n, Ctrl+p &RFIC
» delete: h—YILEBED—XFEHEE
= Home, End: AH{TDETE. REA
« Ctrl+a, Ctrl+e £RIC
» Ctrl+k TH—Y L h D E B & EREIBR




L T

irb(main):056:0> x=25

=> 25

irb(main):057:0> print( "x®fElE ",x," TTF" )

xDfElF 25 TI=> nil

irb(main):058:0> x=30

=> 30

irb(main):059:0> print( "xDfElE ",x," [ZEbYELE" )
xDfEX 30 [TEDLYELE=> nil

irb(main):060:0> x=20; print( "xOf#ElE ",x,” TI" )

xDfElE 20 TF=> nil

irb(main):061:0> x=30; print( "xOfElE ",x," [TEHLYELE" )
xDfEE 30 [ZEHLYELF=> nil

irb(main):062:0> x=20; print( "xOf#Elx ",x," TI" ); x=30;
print( "xOfElE ",x," [ZEDYFELE" )
xDfEEX 20 TIxDfEE 30 (ZEHYZFELE=> nil

WANADT—RE—DDEHIC

COfTE, HDITHLDHETHD CO+EIa0UNRBHHE, Ruby I, £F2
:ez—aut'ué., ° THRCEERD

Ruby RTHEHBIDEHOITD

irb(main):063:0>fx=2
irb(main):064:@ print( "x is now ",x );
irb(main):065:0* x=3.14;

irb(main):066:0* print( " but x is now ",x );
irb(main):067:0* x="Hi!";
irb(main):068:0* print( " but now x is "
X is now 20 but x is now 3.14 but now X i

CCITESanv LU, AN THIRD
—FEFYITHEHLTLSD T, Ruby . ST
#Bhy 1 LEZB

| B AR

|
= Ruby OBHA (L, FREICKELBHERETESD,

hik, &EFE
irb(main):079:0>|def factorial(n) (1..n).inject{]a,b] a*b} end |
=> nil
irb(main):080:0> factorial (10)
=> 3628800
irb(main):081:0> factorial(100)
=>
933262154439441526816992388562667004907159682643816214685929638952
175999932299156089414639761565182862536979208272237582511852109168
64000000000000000000000000

| %

o

irb(main):002:0> def factorial(n) if n<=1 then 1 else n*factorial(n-1) end end
=> nil

irb(main):003:0> factorial(10)

=> 3628800

irb(main):004:0> def factorial(n) r=1; (2..n).each{ |i] r*=i }; r end
=> nil

irb(main):005:0> factorial(10)

=> 3628800

irb(main):007:0> def factorial(n) r=1; for i in 2..n; r*=i end; r end
=> nil

irb(main):008:0> factorial(10)

=> 3628800

| S5 csE

irb(main):002:0> def fct(n,f=1) if n<=1 then f else fct(n-1,n*f) end end
=> nil

irb(main):003:0> fct(10)

=> 3628800

irb(main):002:0> def factorial(n) (1..n).inject{|x,y| x*y} end
=> nil

irb(main):003:0> factorial(10)

=> 3628800

irb(main):002:0> def factorial(n) eval( [*(1..n)].join("*") ) end
=> nil

irb(main):003:0> factorial(10)

=> 3628800

| 2E)/NAE Ruby DS

n 10EHTHISHTOBELSHYET .
(C %5 Java @ double £EEILTY)

irb(main):009:0> printf("%.50f¥n", 1.0/3)
0.33333333333333331000000000000000000000000000000000
=> nil

Ruby 1.9TI&
0.33333333333333331482961625624739099293947219848633




| 2B/ AR Ruby DS

» FEHORILL

irb(main):012:0> 10.0**308
=> 1.0e+308
irb(main):013:0> 10.0**309
= Infinity

irb(main):014:0> 10.0**(-323)
=> 9.88131291682493e-324

irb(main):015:0> 10.0**(-324) Ruby 1.9 TI&
=> 0.0 irb(main):014:0> 10.0**(-323)
=> 1.0e-323

| thDEHDEERAL)

» ERICHROERDOEERAT D
» FEXTIEAL!

n A= T, 2
rbnainy:016:0> x
irb(main):017:0> y=3.14 [y J—3.14
=> 3.14

irb(mai 2

b( ):018:0> x=

g ()
314 3.14

| thDEHDEERAQ)

s ZHITHOZHDOEERATS
» FXTIEHA!
s (A= TR, "ab"

irb(main):016:0> x="ab"
=> "ap"

irb(main):017:0> y="cd" m "cd"

=> "cd"

"ab"
irb(main):018:0> x=y
e T
FEN "cd"

| =t

1
» KITBEEF A RL—2, BEREERT
LD) EXRSUR(BEDOHRR) DA E
nt

s 5]: 3+4
w [BIETAIDARSUR, T+ HEREF

| BERBOEMEET

EEF R 451 EEER
+ mE 3+2 5
- BE 4-2 2
* FEE 2%2 4
/ RE 4/2 2
% FlR 5%2 1
$ok R&E B3 125

| EE/ M RR OETEET

BEF AR 1 BEER
+ mE 3.142.2 5.3
- BE 4.2-2.1 2.1
* ®HE 2.1x2.1 4. 41
/ G 4.2/2.1 2.0
% R 5.0%2. 1 0.8

Fok 3 2.1%x0. 5 1. 44913




| thDEHDEERAR)

s ZHITHOZHDOEERATS
» FXTIEHA!
n (A= TIE, ——

irb(main):016:0> x="ab" Mo
=> b — "ab
=> "ab y

irb(main):017:0> y=x

=> "ab"

irb(main):018:0> x[0,1]="x"
st

irb(main):019:0> y="xb" [>

=> "xb"

HRIE

HIEE(EBE EHET A EmEBEXLESRIEIILET,
HEXOEKRL, HKXFLEIXENRK (DfE) L8 F-
IEXFHR (DfE) LELEBEEFEROTLETSHKT
9, Zh#F and/or/not THAEHEET

F1=. if HER then #=X else HR end L3 BEHK(Z
BYFET,

irb(main):003:0> x=-10

= -10

irb(main):004:0> if x<0 then -x else x end
=> 10

| hESEET

HEF A® 451 EEER
== % 3== false
> X 4>2 true
< I 4<2 false
>= KorZE 4>=2 true
<= horE 4<=2 false

EE 31=2 true

mIEEET

BET A& 51 EEER
! &% | 8=2 true
&& hD  2==2 && B2 true
[ Ff=lx 2==3 || 2  true
not &BE not 3=2 true
and MDD 2==2 and 4>2 true
or EFf=lX 2==3 or 42 true

Ruby THEIMA AR TESIGRT

» LODH D, TaelE—Hl

irb(main):040:0> print “"without () *; print( "or with Q" )
without () or with Q=> nil

irb(main):041:0> puts "without () *; puts( "or with Q" )
without

or with O

=> nil

Ruby 7045 L

= Ruby 7RIS LIFIKXIDFTHSD
= i
= 0.3
n 2%¥3%4
= X=5%6
s LML, EBIZE-=C &I, ruby.exe FRXDEZHET 01
M. ThE HRIThMBESITRRLTIE AL
w b [E =TT OANShERDEIFRRL TN S,
. FEUGESEN BREITELSATDIE,
» RERTOUSLTE. 2TORDEERTINES, ZHOWL
» ZCT.ADEEZRTTHHINGKANAESAT .
S, print 45 puts




| EEFOBEIER

Bl OvEm, (ram
+ - 5 (FER—. 5 KEk)
ok R
* |E /:BRE % FR
+:MmE - EE
=HKA
L3 s RICLRIVDEEFIEEMNSIBEIZEET S, #-T

= 2-4*3 &2 - 24*3), 3/ 4%6 (& (3/4)*6.
LZH.a**-b & a**(-b), a--+-b & a-(-(+(-b)))

| XFIEEEET

o [+H1IE XFEINEEET HREDHD
M &, XFIERYRS REINHD

w BRICHOT LTRSS LTE>TLSEY
» print( "ilE " + i.to_s + " TTY¥N")
- TEEN XTI E L ST RO X TIIEEEET D

« EHEXFHNETBIZIE nto s DESITEHLDEAIZ,
lto_s1ZDI+%

« print( "IZh" *4 + "EYALIBYN" )

Ruby DIk
= Ruby TIXXFI (CHIXEEHRTT) B,
EHEELIENTES,

irb(main):009:0> n=123; print( "n DEIE #{n} TI¥n" )
n OfEF 123 TY

=> nil
w FEEDESIT. XFFIFIC #{ &} THA
EREEFIE KL

Irb(maln)=001:0> n=123; print( "#{n} [& #{If n%2==0 then "even" else "odd" end} TF¥n" )
123 I¥ odd T

=> nil

irb(main):004:0> n=123;

irb(main):005:0* print( "#{n} I& #{if n%2==0

irb(main):006:0" then "even" else "odd" end} ©¥¥n" )

123 (& odd T¥

= nil

| AT+—T vk

n JUESTHALEWMEAIZIE,
. printf("%+d", 1)
D &3, printf ZALNET
L OEBASTA—TYNER) T,
« FEHAIS.

http://www.ruby-lang.org/ja/man/
= TBRIFOT{F8F 150D sprintfo+—< vk

| RAEEF
|
wfa=aBEEF biZTaBEF=DblLiT
BT BoERTES

s CRERANEEFENS
IR =EEEFORICAR—RIEEITHN

a=20; b=10
a+=b # a=a+b&EIL alF30% R

| R AEETF OB

I

KAREF H& 1]
+= MERA a += b (a=atb)
-= HERA a -= b (a=a-b)
*= FEEHRA a *= b (a=a*h)
/= BRERA a /= b (azasb)
Y%= ERHRA a %= b (a=a%b)
FH= BEEAKA a **=b (a=a**b)




| AR DL
|

» TADEIZ T.IEEE. FDAEIZ, Tto_illto_filto_s)
EHRBLIBE. TOT—42(E) %E. ThTh. BHE,
FENEHE . XFINAOERETIEEEKRT S,

s TAQRDYIZEHIZLTLRE

irb(main):025:0> print 2 irb(main):031:0> print 2.0.to_i

2=> nil 2=> nil

;rg(malvz:026:0> print 2.0 irb(main):032:0> print "2"_to_i.to_f.to_s
-0=> ni

irb(main):027:0> print 2.to_s
2=> nil

irb(main):028:0> print 2.to_f
2.0=> nil

irb(main):029:0> print "2".to_f
2.0=> nil

irb(main):030:0> print "2".to_i
2=> nil

p (&, AT BHEE XFIEHfEE
RALTHAL T EY

L BBTES

|
n BHRLZH/NREBNEELTWDEEICIE, FE/D
BRBBICEBIND,
= ChlE, Eﬁ:’&l;ﬁ'bhéc HEFEMSIERIITHNAT=8.
FTRTOEHET—2MNZE/NMERIZERIN D DT TIEAL,
f:‘?ifl’J‘%LF‘Egﬁlﬁﬂ)‘6¥§5l§2A@Q@(Imﬁﬂ‘]l:ﬁb@lfﬂ(i@
BB irp(mainy:038:0> 3.0/3 + 2/3
= 1.0
irb(main):039:0> (3.0+2)/3
=> 1.66666666666667

» XFNEQBEBERITITHONAGN

irb(main):040:0> "2" + 3

TypeError: can®t convert Fixnum into String
from (irb):40:in ~+*°
from (irb):40
from :0

\Y

i

O Il E]

if then else end
nif ... then ... else ... end ELVSEKAH B

irb(main):070:0> x=3

= 3

irb(main):071:0> y = if x==3 then 4 else 6 end
= 4

irb(main):072:0> x=4

= 4

irb(main):073:0> y = if x==3 then 4 else 6 end
=> 6

| ifst
|
if R then H1 else K2 end

if FHE X then
H1 # REXHStrueD L= DME

else
R2 # HREKXDtrueD EZDIE
end
if E
H1 # KRB MtrueDEEDE
else

%2 # REX A trued LEDIE
end

| if =
|
HE then K1 else X2 end

=

f SHEX0 then

if #HE X1 then R 11 else 12 end
else

if SHIER2 then K21 else 22 end
end true

IO

mER

false

EITFPADRIELNET mE2

CCTIE, PERETHLOWELESD,




| 70455 L)

loop {
print( "Enter your score: " )
line = gets.chomp
break if line==""
score = line.to_f
grade =
if score >= 70 then
iT score >= 80 then “A" else "B" end
else
if score >= 60 then "C" else "D" end
end
print( "Your score #{score} corresponds to #{grade}¥n" )

G:¥Ruby>ruby -Ks sample0405. rb
Enter your score: 90

Your score 90.0 corresponds to A
Enter your score: 40

Your score 40.0 corresponds to D
Enter your score:

| EROR,SHR
[
» Ruby TlE, BHDXZLE=2DEHELD,

loop{
print( "Enter your score: ™ )
line = gets.chomp
break if line==""
score = line.to_f
grade =
if score >= 70 then
if score >= 80 then A" else "B" end
else
if score >= 60 then “C" else "D" end
end
print( "Your score #{score} corresponds to #{grade}¥n" )

| ERDRYEL

s loop{...}

» ERE[MIZERICBYIRY, BREDOIE—ZELEZEZATHELL,
=L WELBYIEDL D TIFEK BEDHT-5/EHDTT A,

s LWL WTFhIZE & ERICESNDIDIZES,

» BRATIEDHZITRIEERNLL,

» EPTLEHLIEER (ChERZH, FofKHSLLALY) A break T

o

i=0 ChE If BT ELS
Toop{ = if HIE
print( "®olF~ ") H— il
if i>=10 then break end
puts( " Yee-ha! " )
=i+l
3

| @M >TLBRYIEL

= 10.times
‘10_times {print "Ho(F~ "; puts " Yee-ha! " }
10.times {

print( "PoF~ ") 2 gg *
N puts( Yee-ha! ) > ga e

. 3 &8 P

n IB[2, CABIENTES 288
‘10.times {J|ifl print i; puts "%E"}‘ 3 gg :mm
[10.times {[il puts( "#{i} &E" ) }| g gg —
[10.times {lfil puts "*=j}]

™[14=0,1,2,3,4,5,6,7,8,9 QIET. BYEL . XDHEET S

| B A EEDBRYEL

]
= N.times

n=5
n.times {|k| print( " "*(10-k), "*"*k, "¥n" ) }‘

»*
s
*te
poe

| EREEARE-TVBRYEL

= each
[ (5--10).each {li| print( i, if i%2==0 then " [{BH" else " [XFH" end,"¥n" ) } ]
(5..10).each {]i| s=5
print( i ) e =10
if i%2==0 then (s..e).each {]i]

print( " IX8%" ) print( i) 5 [3&HHK
else if i%2==0 then 6 IXf&R#M
print( " EF%" ) print( " 8% ) 7 3%
end else 8 IXR#
print( "¥n" ) print( " ZHFHK" ) 9 [1EM

} end
print( "¥n" 10 (X{8#%

b3




1. times { |i]
d= -
a..d) .each{ print(” ")
((d#1)..10). each{ print( "*" )
) print( "¥n” )

Math. sqrt ( 100 — i*i ).to_i
1
1

ek

3111;****

| DL —T 5

11. times { [il
d = Math. sqrt( 400 — 4x%i*i ).
(1..d) .each{ print(~ ~
((d+1)..20).each{ print( "*”
print( "¥n” )

SETN

|
= Ruby Tldfth(Z. while, until, for ZE A H S,
« DA EREICIE
« Ruby #&:&##4&:& 1%, while, until, for TH5
= times, upto, downto, step [& Integer M Ak
» each [ Array E®. Enumerable /> 7 )L—F9
BUSADAIYR
w JL—T D HBFIZ(Z, breakLA4} | next, redo,
retry B\ 5

downto, upto, and step

» BITEHEIFS

[7.downto@ { [i] print( 1, ") || 76543
[.upto(® { |il print(i.” ")} | 34567
[2.step(12.9) { lil print(i,” ") } | 25811
[12.step@=3) 1l print(i,” ") }] 12963

while [Ck5#EYIRL

i=1

while i <= 5 do
puts( i.to_s + "EETY." )
i+=1

end

¥—EEOHOEHF

while ##EFERHI do
THRREUER
REI~DE R

end

1EB T,
2EATY,
3EBTY,
4EEBTY.
S5EETY,

while IZ&5#YEL (#t)

B—EEQ=HO#HF

while #$Eg¥ERI do
THREUER
RE~DERK

end

| 7045 Li(whileX)

i=1

while i <= 30 do
puts( i.to_s + " TF," )
i+=i

end

1 TY.
2 ©¥,
4 T°Y,
8 TY,
16 TY,

i=1

A i=1
while i <=5 do P=1
; " " while i <=5 do
ri)uE: ;.to_s + "EAHTY. puts “#{i) AET.
i+=1
end end
1BETY,
2EHTY.
SEETY.
AR ETY.
SEHTY.




70755 L4 (while3X) (&)

1. times { |il 1. times { |il
d = Math. sqrt ( 400 - 4*i*i ).to_i j=1
(1..d) .each{ print 7 " } while j*j+4%i%i<=400 do
((d+1)..20).each{ print "+ } print ” "
print “¥n” j+=1
1 end
(j..20).each{ print “*” }
- print “¥n”
- ]
*
-
-
—
[—
[R——
P

| times & while M3&L

» EALTHS, =L, v Tz iEER
EWWAHSB
» times, each: ZEIZIE., HIHEHDOEDE
LLAVERLY
= while: ZEIZIE. FIEHEHLUNDEHT:E
WAH D, F=I&. FIEEHREES THE-T
HIFELNELFREL

| times & while M;&LY ()
|

= While ZFE5D (&
n T7MILDFEHAH (BB) DL, AT
HIENEDILENGES

- RDT—Y

s STELTHEBNEDLMSHNES
« Collatz-B BN FHE
« THERDD
» REITTKAEINEZRAWVSHEDHIZHD

» BIDITADERMN. ZEEXRITTHEE

l f5ll: times & while @&
|
s hEHETE1=BITTH

s =0.0 8§=0.0
n =10 n=10
n.times{ |il while s<10.0 do
r = rand() r = randQ
s +=r s +=r
1 n +=1
a =s/n end
puts ( "= #{al” ) puts( “#{n} EETI0ZEZL,")

"BH AFHDHTD |

"BILER BFHHDOTLG |
REEE" AT HDOHTN]

while I2&5#YIRL (#i4<)

while ##E5# do ###HFEHAROM, LBERYET
#REHOBELODLEL, —FRY

=1

X2
end
# KKHBENE open ( “HumptyDumpty. txt” | f
#—EED-HO#F In=1; 1 =f # E—EEO=HDER
while ##&4 do while 1 (I.nil?

THREHER print( In, "TB:", |) # #&%

REI~ D In+=1; | = f.gets # RE~DER
end end

J 1478 :Humpty Dumpty sat on a wall.
2{78 :Humpty Dumpty had a great fall.
37B:All the king"s horses and all the king"s men
47B:Couldn”t put Humpty together again.

http://www.authorama.com/through-the-looking-glass-6.html

| $<HDMBER

|
» ROKIGEHIBIEATREELGEDTRMASA TS

open ( “HumptyDumpty. txt” ) { |f| | open("HumptyDumpty.txt”) { | f |
In=1; | = f gets In=1 # E—EEO=HDERE
while I (1.nil?) do while | = f.gets do # EHHIE & R~DENR
print( In, "47B:", |) print( In, "4TB:", 1) # FRLOAEE
In+=1; | = f.gets In+=1 # REI~D %K
end end
} }
open ("HumptyDumpty. txt”) { | f | #=tTY,
In=0 TH. ESL
while ( In +=1; | = f.gets) do TH<DES
print( In, "478:", 1) SM7?
end
}




| breakt

|
s BYRLL—) DB TER
» ZDbreakHFTET %I —T%E1D3k(+5

next

» NextliEH2EELERBAIDIL—T D RD#EYIR
LIZDYoTLEY,
» while THNIE., THEFEFRG IOHEDNDE
A BRIETY,

l 704 5 L5l (break,next)
|

n=0
while n>=0 do
if n<=10 then
printI( n, " ") LN—TDRIEATHBwhilel=RE3
h +=
next
else
print( “ZE# n IX10&2MAIELE, 7))

break
end
end
JL—TwhileZik1+%

012345678910 ¥ n [F10EMAEL,.

| 7045 L fl(each & next)

(0..5).each { |i]
if ( i==1 || i==4 ) then next end
puts( "ilE #{i}" )

| ERENFSETOISL
|

# RBUL, 2~ TES-1) TEREAYILTLER

1 Y 2 BEY

# 20 10X TORMEMNFLES 3 IER%

2. 10)ach § we ) Enm
1 # EEEBE >2.10
(2..n-1). each{ |x| # ChTlR3 N

| (p=0; break) if n%x == 0 # MYLThi->KRECEAEL
: puts “#{n} IZWW" if p=1 # FEMBEROFTELORE!

LAL. EABL ROGEVREEK(EATOTS,
ISRRTRADERIZLIZLY,
ERZESTNIERIETEDA ?

BITRELEY . REDFETT,

Collatz-A A DT

. BABNERUY,
» FHALIE, 3ELTIERLT,
« BEALIE, 2TES,
CNERUETE, EALNERATE, VOB, 112455

@..20). each{ i s 10, s. 16, 8, 4, 2, 1
while i>1 do 515,,4“
print(i,”, 7) 6, 3,10, 5 16, 8 4, 2 1
# CCCHEYIC | 2EET D 7 zz n 34, 17, 52, 26, 13, 40, 20, 10, 5. 16, 8, 4, 2, 1
end
i 928141221134175226.13.40.20.10.5.168421
puts( i) 10,5, 16, 8, 4,

1134115226134020105158421




| A2

| B30

EH:

[""Perl™, "Python", "Ruby", "Scheme']
EH~DHRA:

names = ["Perl", "Python", "Ruby", "Scheme']
FIF: (print [FEH)IZHVEEA)

p ["Perl', "Python", "Ruby", *Scheme']

irb(main):016:0> p ["Perl™, "Python"™, "Ruby”. "Scheme']
["Perl”, “Python”, "Ruby™, “Scheme™]

=> nil

irb(main):017:0> puts [“Perl™, "Python™, “Ruby”, "Scheme™]
Perl

Python

Ruby

Scheme

=> nil

irb(main):018:0> print [“Perl™, "Python™, “Ruby™, "Scheme™]
Per IPythonRubyScheme=> nil

irb(main):019:0>

| EROImYHEL

["Perl™, "Python", "Ruby", "Scheme™].each |{ | lang |
print( "1 like ", lang, "¥n" )

irb(main):028:0> ["Perl”, “Python™, “Ruby™, "Scheme™].each { | lang |
irb(main):029:1* print( "1 like ", lang, "¥n" )

irb(main):030:1> }

1 like Perl

1 like Python

1 like Ruby

1 like Scheme

=> ["Perl™, "Python", "Ruby", ‘'Scheme™]

names=["Perl', "Python™, "Ruby', "Scheme™]
names.each { | lang | print( "I like #{lang}¥n™ ) }

| EROEIMYHL )

names=["Perl", "Python", "Ruby'", "Scheme'
4.times { | 1 | print( "#{i} FHE #{|names[i]|}¥n" ) }

irb(main):033:0> names=["Perl™, "Python™, “Ruby", "Scheme™]
=> ['Perl™, "Python", "Ruby", "Scheme™]
:';&fmal ):034:0> 4.times { | 1 | print( "#{i} #AX #{names[i]}¥n" ) }

0 @&EIX Perl

EI Python
2 &BI¥ Ruby
3 B Scheme
=>4
irb(main):035:0>

| EROMYUHL L)

names=[" . "Python", "Ruby", "Scheme"]
nameg.length.fimes { | i | print( "#{i} B #{ names[i] }¥n" ) }

| ER~DRA

irb(main):035:0> names=["Perl", "Python", "Ruby", "Scheme™]

=> ["Peri™, "Python", "Ruby", "Scheme"]

irb(main):036:0> names.length.times { | i | print( "#{i} &AL #{ names[i] }¥n"
D}

0 ERIZ Perl

1 #H(X Python

2 #HIE Ruby

3 #AB(E Scheme

= 4

irb(main):059:0> names=["Perl™, "Python™, “Ruby”, "Scheme™]

=> ["Perl™, “"Python™, "Ruby", “Scheme™]

irb(main):060:0> names[0] = "Ada"

=> "ada"

irb(main):061:0> names.length.times { | § | print( "#{i} ®AIX #{ names[i] }¥n"

)}

0 #FB(X Ada

1 #HIX Python
2 ®AIE Ruby
3 #HI(X Scheme
= 4




ERZ~NDHRA(IS—)

|rb(ma|n) 062: oil primes[0]=2
nde Tned Tocal variable or method ~primes” for main:Object
LCICECTE Tomn (irb):62

from :0
irb(main):-063:0>

Ruby Tl& (RubyIZRS T ENTETE) . REBDEMA EONDETS—
Ruby TIEMES 1SN BENEE. EELEXD
Ruby Tl&. ZBITHEND UM, TESICEITHS
H-T HLWBRIZEEDIZECL, FRIE. EEITH5,
(EhoREREIFFEELLLY)
LAL. BESIDERELTENS ( names[2] )EMES IZ&ITH-TLES
(EhdT5—)

BCSI D

TE(?)

‘ names=["Perl",

“Python", "Ruby', *'Scheme"]

abc = Array.new(5)

=> [nil, nil

irb(main):073:0> abc = Array.new( 5 )|
i il. nil, nil, nil]

irb(main):074:0>

irb(main):075
=> 333

:0> [abe[31=333

Ruby M E2FI|IEFER

» TTICHFHETDERICRATED
» CHIEHZYRET

» FETGVERIKRAT L. BESIZL
ok ! LT(%"*E%’H’EOT)(%%

be = [* |

n):010:0> abc
=> ["a”, "b", "c”, "d”, nil, nil, nil, nil, nil, nil, "k"] |
irb(marny-0I1:0

EHERINDESIE

name:
names[0]:
"Sun” names[1]:
names(0]: _ Mercury" names[2]:
names[1]: e Venus"  mes{7]="Neptune"
oo ————
names[2]: — L vgartht
names[7]:

1 ——"Mercury"

| ——"Venus"

——* "Earth"

__ | —» " Neptune"

BIIDARESAEDHHE, Ruby [FEFIZEYEL TN,
HWEFREEDFEETEN NS,
Thbhb, BEHNREEL TS, I—FITIFRALLA,

| ESIERICIZAARATESH

|
» EHICTKATELLOLSMATERATES
o BHLEB/NAR XFSI RS
» LOVEVEE ! TES
» CXJavaTIEMRIE IETELRL

irb(main):011: 0> abc = ["a","b","c"]
=> ["a", "b",

irb(main): o12:o> abe[1] = 111

=> 111

irb(main):013:0> abc

=> [a". 111, "¢

bnai -014:0] soEs1 = 333 |
=> 3.33

irb(main):015:0> abc

=> ["a", 111, "¢"
irb(main):016:0>|abc[4] = [4,5,6]
irb main':017:o> abc

=>[["a". 111, "c", 3.33, [4, 5. 611 | |

BRICEIZRALELE

» THEY

21E5H?

= ["a", 111,
=5

=> 5.55
irb(main):020:
= ["a", 111,
irb(main):021:
=> 8.88

irb(main):017:
irb(main):018:

irb(main):019:

irb(main):022:
=> ["a", 111,

0> abc
“c", 3.83, [4, 5, 611
0> abc[4]1[1]

0>[abc[41[1] = 5.55

0> abc

(el <606
0>[abc[4][5] = 8.88
0> abc

“c”, 3.33, [4, 5.55, 6, nil, nil

. 8.8811




| BS% (EREIS[EAVYE)

| BsnES
|

w BIZIE 2B DORKEEELT %
max(x,y) ZE&LTH5B

Samp1€080:
def max( X, Y)

if x >=y then
return x

return y

=3;1=5_
=max( i, j )
uts( “#{x} |s the maximum of #{i} and #{j}" )

5 ¥s the maximum of 3 and 5

\BEI;Aw) %

» 3MOFKEZEEY HEE max(x,y,z)

Sample0802

def max( X, ¥, z )

if ( x>=y) then
if (y>=2z) then
return x

ax( i, i,
puts( "#{x} is the maximum of #{i}, #{j}. and #{k}" )

else
If ( x >= z ) then
return x

else 7 is the maximum of 3, 5, and 7
if ( x >=z ) then
return y
else
if (y>=2z) then
return y
else
return z
end
end
end
end

| Ba5%E |50
|

» THEEROLHEH
[Samp1e0803 |

def average( a )
def average( a ) s=0.0
s=0.0 for i in (0..a.length-1) do
a.each{ |x|] s += x } s += a[i]
return s/a.length end
end return s/a.length
end
x = [1,2.8,4,5,6,7.8,9,10]

print( "#{average( x )} is the average of: "); p( x )

[5.5 is the average of: [1, 2, 3, 4, 5, 6, 7, 8, 9, 10] |

| BSSED AL B

o TREASIEOLVESU BB EEE O E#LA,
» YIL—FUENEITOTSLESIDMNELLY,
= Ruby %> JavaTlE, EB5H, AYUK

» BT BIRIE EFOH,

Sample0810

def sayHello( n ) Hello!
n-times{ |i| Hello!
i.times{ print( " " ) } Hello!
puts( "Hello!" ) Hello!
= 4
end
sayHello( 4 )

FIEDL B

» BIIHEERERYT CEETES
Sample0811

def getAverage( X, Yy ) = [ I[1.2,3], [4,5,6], [7.8,9] 1
for i in (0..x.length-1) do = Array.new( d.length )
s=0.0
for j in (0..x[i].length-1) do getAverage( d, a )
s =s + x[il0]
end for i in (0..d.length-1) do
y[i] = s/x.length print( "#{a[i]} is the average of: ™)
end pC d[i1 )
end end

2.0 is the average of: [1, 2, 3]
5.0 is the average of: [4, 5, 6]
8.0 is the average of: [7, 8, 9]
=>0..2




FRIEDL U ER

s TH EHICEZERT ZEEFTEGL

Sample0812

def getAverage( x, y )
s =0.0

for J In (0..x.length-1) do
s += x[11
end
y = s/x.length;
end

EHEDHLHEHK

o BRSIZBIRIE(RYBE) T HIEXTES

Sample0813

d = [1,2,3]
a=0.0

getAverage( d, a )

print( “#{a} is??? the average of: "™); p( d )

0.0 is??? the average of: [1, 2, 3] ‘

def getAverage( x )
y = Array.new( x
fol -

length )
ngth-1) do

for j

(0. .x[i].length-1) do
s += x[i101
end
y[il = s/x.length;
end
return y
end

= [ [1.2.3]. [4.5.6]. [7.8.9] ]
a = getAverage( d )
for i in (0..d.length-1) do

print( "#{a[i]} is the average of: ™)
z( dril )
en

def getAverage( x )
y = Array.new( x.length )
for i in (0..x.length-1) do
s = 0.0
x[i].each{ Ja] s += a }
yL[i] = s/x.length;
end
return y
end

the average of: [1, 2, 3]
the average of: [4, 5, 6]
is the average of: [7, 8, 9]
=>0..2

2.0
5.0
8.0




